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Successive, continuous and consecutive
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Question
Hi! Could you please tell me the difference between successive, continuous, and consecutive!
Thank you very much!
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Examples
In 2012, China’s men won their fifth successive Thomas Cup.
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Brazil and Italy are the only countries to have won successive FIFA World Cup titles.
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Examples
There has been continuous rainfall in Northern England for 10 days.
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Remember to leave the building immediately if you hear a continuous alarm bell.
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Examples
Unemployment rates have fallen for the fifth consecutive month.
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This has been the third consecutive winter without any snow.
Al O R = AR FET

Feifei

A I successive Fll consecutive FMIE VR I A BE ok ifbm] DLE #e, (H U0 RAT- 20 HER )
THZ % N TR AR ZE RG2S K I, successive 5 IE A LA G, MHAgAKLE; M
consecutive S| s HIH & IR FES KA, JFHmFEETIE.

X LA R S 0 DXl A& LU AR 1), Ay B R 2K mT AICE BRI S B — S = fd, £
T F I — 2 ZEAR A R OB AR AT e, et 24 i — Ml R AE R Y R Ak 1
THE R W “fa 8 DE ARVE” RORIFIXAN A . UG B 22 1 AN FRATT 3L 4]
PRI Sl 2 > B B o) @l . AT DL s B e S A TR &R . U 44 2
“BBC JLifi#{*” ; WRFH/E questions.chinaelt@®bbc.co.uk & IEIFE, FRTTHBEZ

Q&A of the Week © British Broadcasting Corporation 2015
bbclearningenglish.com/chinese Page 2 of 2


mailto:questions.chinaelt@bbc.co.uk

